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1. ﬁ«"QWﬂﬁ'@ﬁ:
L S 39 saferat w1 zwiien & SI€isfht sa # )
I feior 39 saferat a1 zwifar & A dudt s 3 )
1. 3 39 saferat @ avrtar & s EIECR S 5
IV. 3937 syfeal &t qurfan @ o ¥ Paraa # | . Fdel
1 9 12 7 3ifaset fobe mu s =femat et sy eporey 3 forfogey sfevordt 61 wfafAae
forer safes et atirsht aver e # 0<

In the given diagram - [
I Rectangle represents persons gayo know English.

Il.  Triangle represents persons who know Marathi,
. Square represents persons who know Telugu.

V. Circle represents persons who know Hindi. ficiency among the
_ c

The regions labelled from 1 to 12 represent various combinations of language profl

individuals.

How many individuals can speak El;lg{ish exclusively ?

i3 —> English (3703()

Marathi (5031) 4

3

6 /3
9
8 1 Hindi (f&h)
10
—> Telugu (3FT)
(A) 19 B) 5 g <€) 17 (D) 12
)
Ifz i #1969 A, F,K, P, %, T 3T 2
i 2

If the sequence of letters is A, F, K, , what comes next ?
A) T (B) U Q <€) Vv (D) W

e e 1 i ot i, et Gk e e ¥ i R o s @ g e vy 3

Select the option in which the nur@l:rs share the same relationship as that shared by the given pair of

numbers.
185 : 199
(A) 126:134 (B) 178:187 (C) 139:153 (D) 89: 106
4. uF fafgq @ & LEARNING’ &1 *160° & &9 # foran smar & | 39 #1g § "PREPARATION’ %) forar
L

In a certain code, ‘LEARNING” is written as *160". How will ‘PREPARATION® be written in that code ?
€ !
(A) 248 (B) 124 (C) 266 (D) 133



https://sscportal.in/study-kit/police-constable
https://sscportal.in/ebook

mﬂ l!@ . https: , , sscpor!a| .1 n/

S, fwfriee ydt # ofieft et i i 4 3 STTA ST R sf <f e s &, aﬂﬁﬁ“h comes
Arrange the following words as per their order in an English dictionary and choose the on® t

first : ot |
Hardboard; Handspring; Handover; Handstﬂt
- - ') Hands rd
(Ay Handoves (B) Handspf"‘g“;’g (C) Handstand (D) Hardboa
6. @@ A ol
Complete the series. <
2,6,12,20,30.42,
" = 49
(A) 65 (B) 56 @ © (D) 51 et
11 WS R S H x T ord R, 1 Ay af &,

7. TWMHEIwaMH DTy - 1FHEH,
Fafrmwrad2fr) pRIAR?

If H + 1 means H is the sister of I; H

which of the following means that J is the daughter of P?
(A) P-QxJ-M (B) p+Q,_Jx% (C) P-QxJ+M (D) PxQ-J+M

8. %Q"Q%Wﬁﬁﬂaﬁmgﬁqsﬁﬁqnq@ﬁ PARANORMAL® 3 o 7R 31 3reret w & ST 8

FET ST ST E T |

fl
_ I means H is the brother of Tand H x I means H is the mothet ©

Choose the word from the given alternau% that cannot be formed using each letter of the given word
‘PARANORMAL’ only once. <

(A) NORM (B) PALM O (C) ROAR (D) RARE

CIESIE] SLESISIE IS #ifsm @

Find the missing number in the series.

20, 35, 60,105,190,

(A) 225 (B) 280 (C) 560 (D) 355
frfafaa & & F-a1 s 7o, @5 3 90 & sfter & oy ) ged o) e g a2 0
Which of the following diagrams best ilius%{es the relationship between Earth, Sea and Sun ?

YOO TR

e # & 38 #2 °¢‘

(A) Sme (B) dem %. © ¥
Lion is to in Den as Spider is to _ [ (D) a-ﬁ'HTlT(ﬁ'g)
: (A) Web ® HI ©

(C) Tree

P 12, Wz”*‘“ﬁﬂmwﬂsmt-metw (D) Shed
| o e T Tt 3 40 1, T | e s s e - D %ﬁm;r $ 3l 30

A) 50t B) 707, (Cﬁj?ﬁa‘f Tt o Sy
(D) 654

___________________________________
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EECRLLEE
aﬁqsﬁgﬂﬁﬁﬁ
13, 3 7§ st s earqEe e v st e g § @ 7w faweT 3 6. ==
Y AT T B | < that maintain Study

} . .wer Nigure )
Study the provided figures carefully and choose an option from the answer e s
pattern observed in the problem figures.

(1) | | (B | )y | M)
I C|C |

lclc i€y
I T 10 IV v o
(A) (J) (B) I(f(): (l, )&( (D) )f(
14. wmﬁﬁwuﬁtﬁafmﬁaﬁmm@ﬁrﬁwvﬁsﬁrm Wﬁ’ﬁﬂm%‘
TTEfre 91T o fFa R stk smwr 2
(A) @™ (B) ufam (C) afem (D) I

is the
A cyclhist ndes 12 kilometres west and then turns right and rides 7 kilometres. In which direction 1S

cyclist now travelling ?

E
(A) East (B) West ofiC) South (D) North 1
O i
15. UF 5ol § &0 [X & SH1 & 9 8R/E A, B, C, D 2da
fom FAA | G | @wHC | dwEHD o
ST TTETTR | ST ST 28 23<] 17 27
] B
e e 7 e 14 125 8 13
SR Tt wie & Sl s & |
el e & 0l <l . - o 15 "
T ol & ST o
T TR & & o f  Seftot Ao T SR ? i
(A) THEHA (B) ¥ B ((C) ¥=|AC (D) ¥|H D
A school has four sections A, B, C, D of Class IX sgblents
Result Section A Sn.%ﬁon B |  Section C Set,non D
Studcnts_fai_led in both exams 2_8_ T T; - L 17 - _’_7 ]
Students failed in half-yearly 14 @h | N 13
but passed in annual exams I T S I 4 19.
Students passed in half-yearly 6 17 " 9 1S
but failed in annual exams e \ S
Ltudent passed in both exams 64 55 | 46 76
Which section exhibits the highest pass pnrcenldgn in either of the two €Xaminations 9
(A) Section A (B) Section B (C) SectionC (D) Section D D/
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=T 1 Ao 5'“"“"58' ﬁvious
Study the graph and find what is the maximum perceptdge increase gfen from

next year.

2020 2021 2022

milk (TH) 14 15 16 ﬂﬂ,)
| B3 coffec (#rdh) 14 13 16 1%
MW te2 (F19) 13 15 17 2

(B) 30.25% c17.65% D)  20%

8 g T 1 IR e Pt ShEIRE i o B TATE, o0 < &,
v ex FTEIMAT R ST 4+ + HIqIAT R |

Simplify the following expression using the given code language, where ‘+* represents “x’, ‘X’ represents
‘—, ‘—represents ‘+’ and ‘<’ represents ‘+’.

(A) 10%

9+4-6x6+8
(A) 16 (B) 8 ©) 12 (D) 24
mﬁagﬁqﬁﬁqwﬁzﬁﬁmﬂm%m
Choose the next figure that continues the pattern. 8 -
NN A% &
‘)
OSSPl I
o I 1 v <
% 2 R % re:
(A) (B) ( QQ @ Q
060 % @ (AN D) AN
Age 1 I
Complete the analogy :
145 : 154 ::532:2
a) 32° (B) 52° () 352
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aft ST T X B et ciemvren e § o o ¢ s st (4 3 S T 0
WW‘WW‘W)%HWWQ? \
(A) VT @FTIE) () m@@v‘%ﬁ ©) it e D) e (FEFT) 2,

If you have a regular pentagonal prisn#and you slice it parallel to its bases, what Shape s

cross-section ?

(A) Hexagon (B) Rectangle o (C) Square D) Betag™
FTFRH | ITTAT 947 3777 9 ]
What comes next in the sequence ? ®)
ACEG
A) 1 (B) H () 7 (D) K

@ﬁﬁ“‘mm?@w%mmmwm@w 3 gt e o e A ¢ | T THE3 8
IRK fram & |.mamwaﬁqgrm%%qﬁﬂaﬂﬂﬁ°ﬁawa'm?

+afe ot r & ok e e &, o e o gy v d 1

A) 83K ®) 33K () () 83E (D) 3¥RE

Four cards are placed on a table. Each car8as a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which card®ust be turned over to satisfy our requirement 7

“If a card has a vowel on one side, then it hagan even number on the other side.”

(A) 8andK (B) 3andK (C) 8andE (D) 3and E

23. @aﬁﬁﬂmmgﬁmm%‘mmﬁﬁ%ﬁmﬁsﬁhﬁﬁmqﬁ%ﬁ% P R
Tt T 3W TShT W T AT ® 7
(A) & (B) #f (C) =mh (D) =&
Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the
relation of Vipin’s wife Parvathy to that girl ?
(A) Daughter (B) Mother 08 (C) Aunt (D) Sister
O
24, WIGEd AT : o
I : BIZATH 3 qIghIGIT : ? ol
(A) wfheae (B) WEm od  (C) TEWE (D) Rt
Complete the analogy : <l
Camera : Photographer :: Microscope ? D .
(A) Architect (B) Chef ®  (© Pt (D) Biologist
25. SfewA sl RA @A FHE? .
(A) T % rE Ehed € (B) g‘mﬁ:’“@‘ﬁ
©) drteRI|E (D) = el
How are dolphins and whales similar ? ‘
(A) Both have scales (E) ]l:o{h bmafhe ar
(C) Bothlayegges ( Z -). o .o.tf‘fl.e_t_l E_‘Jl ——
Y2ty R Page 6 of 24 T TTTeeeee ..
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26. T fomr & fangsit griew) o wen fifag |

Count the number of triangles in the given figure.

(A)

0%
12 (B) 16 (/18 (D) 10
Lo5]

ol

27. feuwm st 4 4, se g & T e S @ Es | o

Qut of the figures given, choose the one that will completg the series.

(C

lcicicl

(A)

T [e] <@ o

8. Fr= i@ fomm g Fifsa:
Find the odd one from the following :

EE
AR Al

&&5$0&

29, & E Tpta # fopa AEA € ?

How many rectangles are there in the given figure ?

o
O
o
o
(A) 13 (B) 14 ((MlS D) 17
30. e i el S I s | <
Find the next number in the series. I ]
62, 55,48,41, @)
34 (B) 32 (C) 38
B e (D) 36
DZU-24 Page 70f24 T TTme=eel__
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1. o AR ol LRy SR SARREHRE - 1 1/ ’
Find out which of the figures can be formed from the pieces given in the first figure (X)- :
3¢
Q \] -
()
%
0%
(A) }? (B) A/ o () (D) ’
2. FIR AN F I etz
Choose the letter pair which is different t'rc@others in the group.
(4) GB (B) TO (C) OK (D) MH
33. HET:3.5.11.29.83, '
ST § ST ST 47 et 0
Senes:3,5,11,29,83,
What 1s the next number in the series ?
(A) 283 (B) 253 o (C) 233 (D) 245
34, TS ST AE W ARG i T et @ it o6 o | wieifs, 4 5 TE e S R
ST T % 4 SRR 1 AR 2T T | AT AT S et St 3w ot 2
A few students went on a trip and the to ount planned to be spent was T 96. However, 4 students did
not turn up and as a result the remaining sttdents had to contribute ¥ 4 extra. The number of students whe
attended the trip was :
(A) 8 B) 10 ©) 12 (D) 6
35, =R sER-aE R E, fAH 8 i o -foreft =7 8 o 0§, 9T O sve-oe s 2 ) A
HeauE F IHT |
Four letter-clusters have been given out of which three are alike in some manner, while one is different
Choose the odd one.
(A) HILN (B) PRTV (C) OQRT (D) BDFH
36. fawm @ STl
Find the odd one. o
Qjelslek
oJ
' C) D
(A) @ (B) O ( (D) @
o <
37. UFuREwH 6@ A, B, C, D, E, F&IB, aﬂ?ﬁ.al*?(‘ﬁﬁ;ﬁ“ﬁ%tAaﬁtcﬁm%aihm%lE,C
I VER I D AR FARIE, ATIWER K :*B“:““h'%?“ “m( !
A family consists of 6 members A, B, C, D, E, is the son of ut C is not the moth
o m:rried couple. E is the brother of C. D is the daughter of A. Fis the brother of A?Hf)r\vofni Afand;C
: : y female
members are there in the family ? .
A 1 ® 2 w4 (D) 4
DZUS3 " T Page8of24  TTTTTeeeeeel L. -
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38.

39,

40.

DOVAL

afe 6 T F v T 90 R, dr 10 sy Y FHT FATR 2

[f the cost of 6 mangoes is T 90, what is the cost of 10 mangoes ?

(A) T120 (B) %130 . (C) %150 (D) %160 y
s TR 7 AT 1,764 1 2 afier e 3 e S &, oy i s 505 womafi =t
YR ot 71 i faraet oft 2 o interest

A sum of money is paid back in two annual instalments of ¥ 1,764 each, allowing 5% comp
compounded annually. The sum borrowed Was :
(A) T3.280 B) ¥3,220

| R | 3 g fm e e C
C 31 B T 7 ¥ s 18 Rt ok 24 RA A H | 37 8 171 7o U |
T | B 39 1 it o R g o 2 oué |
(A) SR ®) 5L fm oy © 85 1 (D) 10f& e
C and B can do a work in 18 days and 24 dayy respectively. They worked together for 8 days and
C left. In how many days did B finish the remTiﬂ]mg work ?

1
(A) 5 days (B) 5% days @ © 83 days (D) 10 days
A 39 B W T F1 & 75 fieit i e § | SR O A1 e 7 o A A 3 o

(C) 3,200 (D) 3,240

are 318 &

41. :
3R B A A R Y 23 Rt & qur | Ao Y B 3 fefert fo o e @t fe 2
(A) 26T (B) 19fm (©) 18FA D) 25fA | B
A and B each can do a work in 75 days. They began the work together but A left after some time gﬂ
completed the remaining work in 23 days. Aﬁg‘é}ow many days of the start of the WOﬂ:i:ld Aleave !
(A) 26 days (B) 19 days ) (C) 18 days (D) 25 days .
42. U I H Hwa A 25%§%ﬁﬂ'§|aﬁmaﬁ@aﬁ20%wﬁmw IR T 10% e fear mm | Qha |
oty 3 FT  2 m |
The increase in the price of a certain item was 29%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increas€n the price ?
(A) 5% (B) 10% <l © 125% (D) 15%
43. AT T 180 i Rreiime oitt T 280 o FReigmt & areft & wahm i =  fohe i & faemn we i
aTH firsror 1 = 320 Wid fhciam T s= ST W 20% FTEm a2
In what ratio must the two types of tea at ¥ 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at T 320/kg earns a profit of 20% ?
(A) 3:13 (B) 4:13 ©) 1:14 (D) 2:13
44. A ot B Fi e i T & fre IR 2 3 % 31 I A i ioeg 7 v i B g R e g &
15 i Sifireh wwa o & | 3t A ST T 4 <oy g, < 98 g o et i R g @ 2
(A) 225 (B) 35fie C"}_E ©) 215fme (D) 45 e
The ratio between the speed of travelling of dBis?2:3 :
the time taken by B to reach a destination, It:ﬁad walked a':l Egl::f;etf;re A takes 15 minutes more
taken to cover the distance ? (’J e speed, how long woulg he have
(A) 22.5 mintues (B) 35 mintues @) 21 SHintues D) 45 m;
) 45 mintues
45. T AU WIUTOT AT W 5% A1 & T 3 1y W ;
. . SR | S T 7% wufy e at o q
A sum of money becomes three times at 5%, per annum si : oI 6 T B
times in the same time ? simple interest. At what rate % will it pe !
(A) 10.5% (B) 14% © 119 COme g,
D7Uaa TR - (DY 17 <o,
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&al1 & FaTFITRT o s e o e e far o R 3 a5 A mwmm*mgm%
[-1-1983 &T % 380 wfer uTe & 3T 1-10-83, 1-10-84 AT 1-10-85 T ¥ 40 &7 ofrn #1 < X
1-1-86 T HarTfrager B 2, A aw wfay w7 Faeft T stTw e 8 2 .
A man's p?nSion on retirement from service is €qual to half the average salary during th
service. His salary from 1-1-1983 is ¥ 380 per month, with increment of ¥ 40 due on 1-
1-10-85. If he retires on 1-1 -86, what pension does he draw per month ?

(A) T205 (B) %215 (C) ¥225 (D) ¥230
afe Rt @ 71 700, 0.35 R, @ 36w 1 120% s £ |

If 70% of a number is 0.35, then find 120% of that number.

(A) 64 B) 7.2 (C)56.0 (D) 0.6

T ST 3 2500 1 A1 e 0 3 fore, vk o ) ke st Ay e it T T

A trader marked the price of a commodi incl : % llowed a d

marked price. What will be his aitu?lop:z‘]?}mc e a'@) fitiof 25% but alowe

(A) 16% (B) 25% {.Cﬂs%i (D) 9% ) |

e e Rt 1 30 T 3 o sresiaTs st 40 178 | s e e 36 M TR 4 100 %

ﬁs‘rr” %%ﬁgaﬁ“”t‘i"aﬁmﬁmmﬁ 28 e} =y v 38 T B | A TS T
T ? )

¢ last 3 years of
10-83, 1-10-84 ang

6% 1 T it 4,

iscount of 16% on th

The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest scor o

by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs
Then the lowest score of the player is :
(A) 19 (B) 18 ) 20 (D) 17

o fmiar o faew e & 2000 ghel fsowﬁﬂg@%aﬁw@ﬁwméﬂ%rmaﬁw%
STER, AT 5% T AT T I FA H AEHA gHIC €, 7 off 7w 25% T AT FAET | T

50% T ot STt R far o | 4t e ©R?

A manufacturer undertakes to supply 2000 pieces of aBarticular component at ¥ 50 per piece. According
to his estimates, even if 5% components fail to pa.%athc quality test, then he will make a profit of
25%. However, as it turned out, 50% of the comporghts were rejected. Then what is the loss to the

manufacturer ? |:]
(A) %24,000 (B) ¥26,000 (CE3)X 28,000 (D) ¥30,000

TE FTFE 6,400 T 32T T oAt T B 20% A EH G| AN FHH R AR 2

By selling a car for T 6,400, Mr. Rao lost 20%. Then the cost price of the car is :
(A) %7,200 (B) 7,680 (€C) T8,000 (D) 8,400

qmgwm{_aﬁﬂt-ﬁat@qaaﬁf%oﬁﬁw%aﬂ{ TO HEE BT 8 | AR TE W@ e 580 F Jmar 2,
Tarh1 T SEHI BT T AT €helT § | THeT T o A T

A used two-wheeler-dealer sells a scooter for T 460 angi}makes. some loss. If he had sold it for T 580, his
profit would have been double of his loss. What was thggost price of the scooter ?

(A) %520 (B) %540 (CPBT 480 (D) ¥500

e A G % ferda 80 feHT 16 ﬁﬁww%w?zﬁlﬁ 12 52 et R | Rom et &t g Sy fiy 2
A) 65fefEm () 5.5 fERAET (.6 Bft/ein (D) 7.5 Rt iz

A boat goes 80 km upstream in 16 hours an

water is : .
(A) 6.5 km/hour (B) 5.5 km/hour (€) 6.6 km/hour (D) 7.5 km/hour

@ Download SSC CGL, CHSL E-BOOKS eauice
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59.

60.
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(A) 1 1A v

(A

| . ater and he iy )
A person can tow 22 Kman hour i willw 1 1 takey Wi twice

b s atrean i
row down the streant. The speed of the 8t i

(A 12 ki (M Ykl
: ' ; . ‘ RIS Hm‘l"idﬂ' (He 1 nd 4'“31”‘ !
0‘ \
Find the HCF ot ]‘ ; °‘ " ‘ ‘ S ;
| |
A) i
(A T (B3 m

L0

. |
() 7 eyt
.

https://sscportal.in/

R Ry
R
(R 1 ‘-"” % l“‘lﬂﬂ \F‘-‘\I." ATREGLR ‘“” %

|
. ‘an'll‘l.ﬂ 'i
] Iy . Tl e

) A long to row up as o

\
(1 1y , Kk

| ]
(S))
Lo |

o sratera i afty vt o el § | afd 15 ol gE e el o, ) v wftr F Fw R afw sl
A1 R | 3ad w45 afty SR ¥ g a s & A S sreljgpy s SrfRreTdl 3 e § e ved & 1 A R

s frfr 6 g 3 fvas wiva

There are Senior officers and Secretaries in an office

O

1f 15 Scoedtaries went on leave, then every Secretary

s [ N Y ALF s} 3 Fe £ as
has two Senior officers. After that 45 Senior officers went @leave and now every Senior officer h

5 Secretaries. Then find out how many Secretaries were there i®8ally.

30 (B) 40

(A)

285,510, | 440 &1 WEHH gEIEdE (HCE) 31 Hifs |

Find the HCF of 285, 510, 1440.
(A) 14 (B) 15

(©) 25

)

(D) 35
[
®

16 (D) 17

UDHR (A1 S dht Gty seum) a1 $H-61 7o Seied § I o & sftrER A A AR

(A) IR 10 (B) T 14

(C) T 18

(D) TR 25

Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum

from persecution ? |

(A) Artcle 10 (B) Article 14
rfudqier R

(A) M-feafea ettt (Ar-quepifi ofirew)
() A% wtard (A%

The full form of NPAis .

(A) Non-Performing Assets

(C) Non-Package Action

T g2 3 Fore foret o ¥ e WA S @ )

(A) IS (B) e

(D) Article 25

() Arn icgl 8

7S
(B) M-
(D) M-

qfveafert (@-afders )
R (F-pTRT )

(B) Non-Public Assets
(D) Non-Pggforming Actions

(€) g (D) farsrR

In which district of Uttar Pradesh is the *Shera Dance® celebrated ?
(C) Lalitpur

(A) Amethi (B) Ayodhya

(D) Bijnor
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61.  STTH THTY Tteror wfrerer vty o1 g SRwm A d 2
(A) T ERRRE & Ieares gy wfdsiy
(B) TTHIY FSif o riferqul sqaii aht agrar 34
(C)  HIS[ET TRHI] SRATTR ) ] FT
(D) T 37 &= 2t et & fere apft oy Fareprt e siferanr
What is the main purpose of the Comprehensive Test Ban Treaty ? o
(A)  Ban nuclear weapons production &
(B)  Promote the peaceful use of nuclear energy &
(C)  Reduce existing nuclear arsenals )
(D) Ban all nuclear explosions for both civilian and military purposes o
62. ST R Pt i vt & o e R o <
A) [ ®) T © P s [D) @
Arjuna Award is conferred for achievements in the field of : ®
(A)  Sports (B) Dance (C) Theatre (D) Literature
63. Sfea fama shrem fonaeh} stremsrenr 2 9
(4) TR (B) gy
(C) U, reamht (D) A FHAW HTSE
‘India Wins Freedom’ is the autobiography of whom ?
(A) Rajendra Prasad (B) Subhash Chandra 856
(C) L.K. Advani (D) Abul Kalam Azad -
64. 2016 % a3 a1 RBI 1 e wfowr 500 3t 1000 T3 5 e s T g
What percentage of 500 and 1000 rupees notes was received by RBI after thax®) 16 demonetization ?
(A) 98.96% (B) 95.65% (C) 93.27% D) 97.45%
65. 1993 HAMT ANFRI Wiggadems I AW u
(A) TR HN (B) Tl @)
() s (D) Reifeh 3R Ty Hiyun
The World Conference on Human Rights in 1993 adoptedthe |
(A) Amsterdam Declaration (B) Helsinki Declaratio
(C) Vienna Declaration (D) Helsinki and Amsterdam Declaration
66. mmﬁmmaﬁqﬁwﬁvﬁwaﬂrwﬁwﬁﬂmﬂhw N s s #
foru «ffel & SreoT 1 ST 2 O
(A) 42af G (B) 44at gued (C) 73af daeH «4D) 793F GsireT
Which Constitutional Amendment Act extended the reservation of sea®Sfor Scheduleq Castes and
Scheduled Tribes in the Lok Sabha and State Assemblies ? o
(A) 42" Amendment (B) 44™ Amendment  (C) 73" Amendment SD) 79t Amendment
67. ke gitet e 3 o Troa # e 8 2 ®
(&) e (B) T (©) frsie (D) o
The “Loktak” lake is located in which state of India ?
(A) Meghalaya (B) Manipur (C) Mizoram D) Teivis
B ™ P R

€ Download SSC CGL, CHSL E-BOOKS e



https://sscportal.in/study-kit/police-constable
https://sscportal.in/ebook

B

(A) EHaT ® =M (©) sy E”%‘*ﬁmﬁa&mhh
The words “Unity and Integrity of the Nation™ in the Preamble 4, ) g
principle ? ¢ '0 promote which fundaments
X ce C) F F
(A) Equallty (B) Justice ratem“_y
. ey (D) s, S
69. .—@mm%ﬁw% ﬁma@whﬁmengﬂ“
A) e B) T :i i th((:- 5 !.": (D) v
is a software program that ﬁllﬂ a ﬁéc;ltabjlo;mng through the Internet.
(A) Antivirus (B) Cookies  of S (D) Firewall

70. =TT F WY HaTE H F g At AiredT !] gl MY

(A) | rea faqui (SIS

: (©)  SieTeT ST - (D) TER el (i-forem
What is the term for the strategic use of soc@media
(A) Social media marketing

: (C) Online chatting (D) Virtual interaction

71. T I TS TR ?

platfom‘ls to communicate with an audience ?
(B) Social networking

(A) SRR (B) drtAE © B (D) HRWHR
r What is the capital of Bhutan ? _
(A) Brasilia (B) Porto-Novo E’!ﬁ) (C) Thimphu (D) Sarajevo
72, W HR e A AR ? et .
(A) =g of  (B) ETEITEREY
(©) g s it o (D) i ESIH g
Which is the longest River bridge in India ‘?ﬂj
l (A) Rabindra Setu (] (B Mahatma Gandhi Setu
(C) Annai Indira Gandhi Bridge ® (D) Bhupen Hazarika Setu

. amﬁﬁsaﬁa;%za:rémaﬁaﬁma?r?

! (A) A 1853 (B) IWTE 1998 (C) ST 1991 (D) Eer 1995
| When did the Government present the Kisan Credit Card Scheme ?
(A) April 1853 (B) August 1998 (C) July 1991 (D) November 1995

7s. v i P e AT & I R v H R s aftad s 2
: (A) TG TR 3 I § O

t (B) e Sferarer AR Y

’ () T e S A GO e g
(D) Hgeh THY] FriaHT & AT & d’(]
How does the partnership between India and Wietnam change their regional security dynamics ?
(A) Through cultural integration { ]

(B) By imposing economic sanctions (3)

(C) By increasing defence cooperation and maritime security

(D) Through joint nuclear programmes

D.ZU-24
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75. 92024 9% i AT A g F X e & 0
AA) TR (B) wfeereA @3
(€)= Fewiare (D) @ifaa it
Who is the Leader of the Opposition in the Lok Sabha as of June 2024 2
(A)  Rahul Gandhi o (B) Mallikarjun Kharge
(C) Arvind Kejriwal “~ (D) Sonia Gandhi
()
76.  “TTCTH AHT TIH  AGF F E 0 P )
(A) e (B) fomamad swily (C) 3o e (D) T3
Who is the author of the book “Tughluq I\%a” ?
(A) AmirKhusrau — (B) Ziauddin Befdni  (C) Ibn Battuta (D) Allen Zen
7. SIS 378 S T (IRENA) 71 e 3 2
(A) & (FAFMA) STt F I a0t gy et 2
(B) fosrrareiiet <t 3 fore waroy svort shresr fyapfirey st 2
(C)  IRENA T ISt Y 3T s1gT % £7 iy et 2
(D) FHAT s Sfrareeft S wRermett 3 frg Ry wemar vem et 2
What does the International Renewable Energy Agency (IRENA) do ?
(A) Promotes the use of renewable energy
(B)  Develops nuclear energy programmes for developing countries
(C) IRENA focuses on advancing nuclear power
(D) Provides financial aid for fossil fuel@dbjects worldwide
78.  Sfae arrdenaTe et st & T ¥ Refo e dire 1 fdier o ST 2 0
: 1223 .
(A) IO (B) TRr o ) faadw (D) UNCCT
Which organisation is held responsible foggpordinating global counterterrorism efforts ?
(A) INTERPOL (B) NATO (C) World Bank (D) UNCCT
79. T I, §S, IIfe AT FEAT W TR ?
What is the GST rate for necessary items like milk products, bread, etc ?
(A) 5% ®) 18% @ ©C) 12% D) 28%
80.  <IEHT I AT 35 WHGGRH ST T 1 1 A1 foar 7 & S 2024-25 T € W R 2
(A) TR A (B) aNfaa (C) 3rarar e (D) dfrg
What is the name given to NASA’s manned landing mission to the Moon which is likely to happen *
2024-257? _
(A) Lunar Gateway (B) Orion (C) ApolloRegained (D) Artemis
81, jauiedia gHT=gfaeraR ST Ruaet (ITERYFREISHT i Sevd frfoifiad i sraerian waftfa s -
(A) Fi s & fg e fewes ()
(B) a%ﬂwﬁmaﬂtw-gﬁaﬁa%mﬁfﬂm
{
(C) 3 dr e shrenfireht o
(D) Hafre-amenfea fersreft Ieame erl o
The International Thermonuclear Experimémal Reactor (ITER) project aims to demonsirare the feasibi
of : "
(A) Nuclear fission for energy productiofg)
(B) Fusion energy as a large-scale and carbon-free source
(C) Advanced solar panel technology
(D) Space-based power generation
D.ZU- T——
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82. 14 f5dst = frgsrd v s 2

(A) Tsfia e feam (B) T waarn fram

(C) fow Fex feaw (D) o fram

14 i ohrated as °

(A)Sel;\]tirilg:;ll:{?::;ibg?;:::s‘“ ' (B) National }/utcrg Day

(C) World Cancer Day (D) Engineer’'s Day
83.  WTEHTET RN fvad waifira R 0

(A) |eH uwi (B) e (() wars sgE (D) afxfr

The Bharatmala paﬁ.\’l‘,lim.a is related to : oy . — A——

(A) Roadways (B) Waterways o . ) Forestry
84. mﬁﬁﬂ?-mmmﬁm%aﬁﬂaﬂqm - -

(A) e ®) farwh o) fFama @ziz) (D) 7

: ights in India ?

Which of the following festival is known as the fes! V_a! Of]"g ; tr:as .

(A) Hoh (B) Diwali <J(O) Chns%

r)

85. mmﬁmﬁammmw@%mmﬁ o

(A) AT (B) TETH @)(C) ‘T'T )

Which of the following type of tax is submitted in Indian GST l.th - — i

(A) Income Tax (B) Service Tax (C) Wea . opert}
g6. frfaRaa & ¥ fora qeeht mgﬁuﬁﬁmwf&wuﬁmﬁﬁ%ﬂl ! e

(A) T i (B) ST es

(C). THE gt (D) T TH A1EA T
; | . ke
Who among the following first propounded the 1d?§\of Basic Education ’
A) Mahatma Gandhi Q (B) Jawaharlal Nehru
s i ¢ (D) Raja Ram Mohan Roy
(C) Dayanand Saraswatl o'

87. WRAH, 2020 - 21 T F-GT 7T HETAT 1 TG IBH 91 7

FATFE
(A) WA YA (B) @H <_.](C). aﬁm@mzo » (D)
In India, which state was the leading producer of gpiges in =211 ’
(A) Madhya Pradesh (B) Assam @(C) Tamil Nadu (D) Kamnataka
88. TUH aresersn fewfin 7 fig sEre’ aﬁﬁmmmmwmm%? o
(A) TEAHH T (B) ereufd T (C) < ferza (D) Th=EEL
i ipient of the first-ever ‘Lifetime Disturbing the Pe_ace Award’ ?
?VAl;o 1; Eﬁcﬁsh die (B) Arundhati Roy (C) Joe Biden (D) Rory Stewart
89, wad N feATTT are ST TR | ‘
(A) efwEmm (B) T=e ?%(C) ERLREL (D) woTEE W3S
dian state with the lowest sex ratio is : e
2‘:;3 InH;ryana (B) Punjab ‘:é(c ) Uttar Pradesh (D) Arunachal Pradesh
90, AT (D) F A B aa N |
(A) D = S(IA&I) / W (F5H) <](B) D = S (¥) / N (Hw&m)
Density of a population (D) is ®
(A) D= S(size) / W (weight) (B) D = S(space)/ Hi i ibe)
(C) D=N (number) / S (space) (D) D =S(size)/ S (space)
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91.
(A) wHT FRRE Y srerd U arefas @ T AT g 0k
(B) HHT &I it ot v &l T TE guw Fh
(C) mﬂﬁ%mmmﬁmmwmmaﬁaﬁgﬂaﬁmﬁ%
(D) Y& 3R wearaw ufharait & gum #iak
How does the integration of biometric technology enhance India’s internal security framework ?
(A) By providing real-time location tracking enincing overall surveillance
(B) By climinating the need for human sccurilildcrsmmcl altogether
(©) By reducing paperwork and streamlining aﬂginistrativc processes for citizens
. . . . ) O
(D) By improving identification and vcriﬁcatiqp-‘)rocesses
92. 1928 H SR HeaE 1 g e R e 2 ||
(A) HETeHT e ) (B) wwam qeermTE g2
(©) g9z EHw (D) SHATEelel H&&
Who led the Bardoli Satyagraha in 1928 ?
(A) Mahatma Gandhi (B) Sardar Vallabhbhai Patel
(C) Subhash Chandra Bose (D) Jawaharlal Nehru
5 5 . ; o .
93. 20214, TETITH h T2 W AT s & Wad Sy st o o et wierer #ifear wiew i &
o fearmar o 3
(A) T|T (B) ugaT :g (C) ut=at (D) sherr
In 2021, Instagram was ranked globally at ' position on the Internet in Most Used Soc
Media Platforms Worldwide. i
(A) Second (B) First l;]) (C) Fifth (D) Fourth
(E
94. < 7 fosaa W smmsEwv e oA 2
When did China invade Tibet ?
(A) 1952 (B) 1950 (C) 1953 (D) 1949
95, freferfiaa & & e Sfia Y STt WEwoT 7 el Wb AT ST & 2
(A) e (B) St oy (C) Hah (D) ¥
Which of the following organisms is considered & bioindicator of water pollution ?
(A) Earthworm (B) Zebra (g (C) Frog (D) Lion
4
96. af 37 918 ‘INFORMATION' % 1, 5, 6 31T 8 $reti o1 3wt o 3w sqeqet aiivsft yrag e 69
A1 3T T8 T ST IT&T 9T N 2 <
If you can form exactly one meaningful Engligh fvord using the 1%, 5% gth ;1 oth leteis of the wo
‘INFORMATION’, what will be the fourth lettefdl that word ?
(A) M B) T (€ R (D) 1
DZU.34 T TTTTTTTT T Page 160f24  TTTTTTmmmmmemeeeeoee
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97. %Wﬁmﬁﬁ [ q'rq e ﬁﬁ" A fan it M Fonrf by

T8 - Y8y qy
(A) mmmﬁ (1) RATEATE (e s
(C) ST : Higw (w# e (1) e iy

From the given options, find the pair whi gor 1o the given pabr
Projectile : Trajectory \

(A) Aeroplane : Route L7 (8) Shvetihyaiu
(C) Ship : Knots vl Natellite - Orbi

forade fReem areft nfay @ s00, arfir & '
(A) 4.8 fdt wfe s () A6 Fl) ke
(C) 5.2 famdt wfay s i O 4.5 fahh ufar e
If the speed of a boat moving against (the current 18 (8 ki/hr, what is the speed of the stream if the boat =
speed downstream is 50% greater than its speed upstream !
(A) 4.8 kmph (B) 4.0 kmph
(C) 5.2 kmph (D) 4.5 kmph

99, 8 HIZT AR 3N 1ﬁmmaﬁagwmww&?

What is the area of a triangle with base 8 meterspipd height 10 meters ?

() () 15m° (D) 64 m’

R '1||“

f’\llllnqplpqn

oY
n viarf, it CARICE TR R ERTTE AR PE R R AR geek?

(A) 32m’ (B) 128 m’ -
100. Y, XFEARLSAIPFEARIZY 3 Fe-afiAse | 7 e R A p R Y
(A) S (B) afiqur-afim o (C) FatafEm (D) afégor.qd
Y is in the East of X, which is in the East of P. ftl in the North-West of Y. In which direction of 7,13 P?
(A) North-East (B) South-West [ | (©) North-West (D) South-East
101, ST ST 1 HI | &)
Find the dissimilar number.
9271, 8482, 7633, 6724, 5745.
(A) 5745 (B) 9271 (C) 7633 D) 6724

102. ﬁq%f@aﬁﬁaﬁw-vﬁmﬂwﬁﬁﬂt?

Which of the following numbers is different from the rest ?

13,17, 23,27, 29 f’)
A) 13 B) 17 ao (Y 2 :
& () u (C) 23 () 27

103. @MMW%W Zﬂommlﬁiﬂ?/ﬂﬁhrﬁﬂm
| ,; e & | e sy % e an e AT F
et 200 ot Sf’wmaﬁ"ﬁﬁmmg'?“ﬁmﬂ%m«mﬁnﬁ&:f@mm vy w R

(A) 61.53 fimEe ‘ lm) 4.1 ey

(©) s8.15 T "
i ) 6818 Ffiater

A man travels the first 200 km of his journey g g
200 km of his journey at 50 km/hr, What is his ay ey ) km/hr,
pe

(A) 61.53 km/hr
() 58.15 km/hr

ap Due to bad weather he travels the next
4 T |
| peed for the st 400 ki of hix journey !

D04 18 K/l

(D) 6818 ki
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Mmeﬂ'? 109,
(A) sEH B) A #H (C) a7 (D) TH
Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is mYy father’s d.aug}nq_
Whose photograph was it ?
(A) Son’s (B) Daughter's - (©) Her own (D) Husband’s
105. T afam it ik 20 fanft wefl, Rt aeft 3 g 3ffro Feft sreft | = fibr vt = 921 3t 20 ol
A ST S 45 FRuft ey el e WY et | 37 WP o i e 7 2 2 110.
@) @ (B) ufem X8 (©) (D) I
f}ﬁﬂi went 20 km towards west, then turned left aqd went 20 km: She again turned left and went 21 |,
She took a 45 degree turn towards her left and wcﬁ straight. In which direction is she walking now ?
(A) East (B) West (C) South-East (D) North-East
freffes ®
106. THICTRGR afersh afeq sk <t i wreff 3 o <472938° 3 Forey ifires e 31 H10 -
. - ﬁ_*._ . :
b | 2 | s 7894 631 1.
SFE | M | R [ T |B|W|K | D | N J |
IIq )
1. aﬁm%qﬁéaﬂrmﬁwaﬁmﬁwm , T ST 3 <S* 3 ¥ | Fifed 331 SET =180 |
2. afeH@E & yee 3K Sl ST 7ok T 31 gl AT A 20w i i T S IR |
3. A TR 3 Sifm st & o v R it ggm am , o wedt sien ) Q7 S 3ifm 31 F W Em
¥ Fifsd FETET | o3
(A) ZTWMNZ (B) KTMWNZ o (C) ZIMWNZ (D) KTMWNB
Read the following table and find the relevant cod@\']for ‘472938’ as per the conditions given :
" Digit 2 5 7 8 91 4 6 3 1]
Letter cod M| R | T]|B ' ]
etter code “@ K D N J :
Conditions :
1. If both the first and last digits of the number are odd digits, then both are to be coded as ‘S’
2. Ifboth the first and last digits of the number are even digits, then both are to be coded as ‘7"
3. If one among the first and last digits is odd and the other one is even, then the first digit has to &
coded as ‘Q’ and the last digit as ‘W’.
(A) ZTWMNZ (B) KTMWNZ o (C) ZTMWNZ (D) KTMWNB
107. %@ 15, 36, 63, 96, __ﬁm?ﬁéwamfrﬁxﬁ
Find the next number in the series 15, 36, 63, 96, o5
(A) 122 (B) 128 o (C) 135 (D) 145
108, T 7w war &, e - o e SrC orett 3 31 W ¥ S e & 3 qU | o1eRt F ek Fz stk 3w s
ﬁﬁﬁﬁa@%aﬁasﬁuﬁmm%mﬁﬁﬁmﬁﬁm
T fhie e qusstion, thire aretwo sets of Ielteﬁ)lo the left of the sign :: which are connected in 0™
way. The same relationship obtains between the third set of letters and one of the four alternatives under it
Find the correct alternative.
18120 : RAT :: 18914719 : ?
(A) RINGS (B) RINCH (C) RIMBS (D) RICH
DzU-24 Page 18 of 24 T TTTTTmmmmsmmemmttT
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109. forem g sma Hifsm |

(A) Far: e :’:} E -, ;;—;:
(C) HgaT: F (o) » ) :
Find the odd pair.

(j B) Cow: (q
(A) Dog : Puppy J(B) Cow: Calf

(C) Tortoise : Turtle
110. TF TRER R, ot wew p, Q. R, S AT Paﬁ&*ﬁﬁ?ﬂmas Q Hfee wzer ¥ | p, o g 321
. - . O ) (}
: R e ad st T.sRaIQTH :
(A) " B) Wi L # .
Ina family. theie are five menibeis P Q; K, S @ T. P and Q are a married couple, () being the female
) ris S. T is the mother of S. How is O related to T 7

(C) Daughter (D) Daughter-in-law

g (D) Sheep : Lamb

member. P is the only son of R, whose only daughte
(A) Mother-in-law (B) Sister-in-law

111 mm.w@w$wﬁmmmmmﬁwm% | 9T 1 o afaw A
IEF STUR WIS &1 I A | ‘
The following pie-chart shows the percentage giftribution
book. Study the pie-chart and the answer the que@n based on it.

of the expenditure incurred in publishing a

o
frdt g & FFEEE ° g7 ara =1 9 o arious Expenditures (in percentage) Incurred

(afasa &) q in Publishing a Book
@ - . -
TR’ HOT AT Promotion\ Printing Cost
Cost 0 N
ara 20% 20% &
10% ’ & 10% &
o3
et &@@ S Royalty . é\s?’ S
15% 15% -
o
i g o Paper Cost
forezat 25% o3 Binding 25%
20% o 20%

afs frelt T H ﬁﬁﬁ@m‘ﬁﬁm%a‘@ﬁﬁﬁamwi T sifhd e € 280 B, T T Y
g fer 8 g TS 1 AT wd?

If the marked price of 8 book is set "’.t 40% above the cogy
cost of the paper used in one CopY of the book ?
(B) T60

price, and the marked price is ¥ 280, what is the

©€) =39 (D) %50
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112, 13 & 78 31 e % sram we 7 I A |

(A) BandQ (B) DandY IS{C)
113.
FAT Y THI FAE 0
only tea ?
(A) 20 (B) 10 y: 3
‘ E ¥
Y. G 1148 118 TeivT Us o3

it 6t 7T (R FimT Fant e 6 wfg FRar e |

114,

115.

116.

117.

118.

HDYSMWNBQPOCRTBIL ZVEGUF o3
& 178 s F #- ﬂﬁq@ﬁmﬁmm&mag

(A) B3RQ (B) D3y eXC) U3IMNF

Answer the question according to the letter series é#cn below.

HDYSMWNBQPOCRTBLZVEGUF

/ |

Which two neighbours in the given arrangement aLe]'arlhest in the alphabetical order ?

UandF

(D) Vand E

AR T 3 o wogE . 40 B S , 30 1 v B, 3k 20 7 A o FE 2 TR 2 A

If in a group of people. 40 like tea, 30 like coffee, and 20 like both tea and coffee, how many people

aﬁaﬁmwaﬁaﬁmaﬁmﬁm

W WS TR &I I0H aeTaRl & ar 8’

Tehedl I, 578 FI AT R Qe g R

B &, i dre, 3 9 3w iy @een

HERTY Tt <ol Iqehl Wit 3Trred war ot

Tl ATl & He g gt e ot

g T WM a8 il At arelt Tt ot | of$

Fafft i st AT # Q

(A) AT (B) ArcHa “HC) TR
g T a8 A e et T ot F A e and @

(A) T (B) et ht <I][C} g

I TIiY] T e Y & weHeT R [

(A) iR @J(B) 1857 T T
(C) ST FT HAHA (D) WEWTE Fei 3
T e 1 Fath F AR

(A) et wwt (B) ﬁq’{[?ﬂmm (C) T IOy
T Sfdar &y fFar R .

(A) whF (B) eI (C) ¥

&Qmmﬁﬁ.ﬁg{-mﬁﬁiﬂm-m%’
(A) R (B) fanam ©) fayd

() 40

(D) 15

éﬁmm%wqﬁn%ﬁaauﬁ%ma‘ﬁq

(D) urfifs

(D) wsr
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120. ?‘\‘;%%34%&::: Eﬂamﬂ“‘” T B (C) Iufaam ——
( R f i
1987 & mm(mi%mn'&sféwmf%'ﬁ“m’Y il i _.((,)ﬁmﬁ m“q
G (A) ﬁﬁﬂﬁﬂ‘f (B) Wa o (D) fora Tz feiw
od}
: ﬁﬂ%%ﬁﬁﬂﬁlmmfmﬂ%? ol () frz
- (A) " (B) @ .'J (D) 7T
e S o s o o
A) 3 (B) 4 (&)}
24, i U} T ITAROT T © S ©
(A) @< (B) &3S ﬁﬁwuﬁmmwm%?
125. -Wﬁmﬁﬁmﬁuﬁﬁmaﬁ%%rsﬂ o - j
(A) #sEd (B) T - A Fied
126, “FET FAIATH TR E : =
(A) & B) fafg ‘;ff(C) ™ (D) I
' odf
[27. FdATHd H AHE R : by
(A) TELES (B) 3 °<'-"i(C) FHURA (D)
i ¢ 294
128, Fretfrfae § & fg o # sdaTe 1 AN g -
(A) ST R ESIEE I TR | [ |(B) "o ad s FRI

(C) ST AR T A SR < T (D) MeTTEFIGEIE |
129. ﬁmﬁaﬁmﬁ%qﬁr—mwm

(A) =& (B) T (C) &t (D) ¥ER
130, “HTI-FNTA § U ATl R EARIAC RIS
(A) farRre (B) farrard @(C) wifia (D) WA
131, oI T168 T WETITEE 1R 2 O
(a) T@ (B) SR % (C) (D) fadma
132, << o R (FETH) F T E o0 |
(A) €S (B) TSI% I “J©) sfrstaTet (D) §&d FAR
133, Frferfiaa & & @-a1 - g 2 2 | |
@) () ®) () Yo )y ) (1)
134, gfr SR wrea-gm 1 W e T
(A) THIH ST (B) R -gMIMS R e (D) ST
135. ﬁn%ﬁgaﬁ%am%gaquwaﬁﬁq;
(), oAkl Al R (B) 7 e oA FATE |
(C) ﬁmﬁ’ﬂiﬁﬁﬁ@ é\‘ (D) ﬁ;ﬁaﬁmﬂﬁm il S

D. 7U-24
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